SM expected

Data

SM expected

Data

covevflflisc(i):n ¢ Others fixed to SM  Others fixed to SM  Others floating  Others floating
(1073 units) (1073 units) (1073 units) (1073 units)
CLxx = —CLyy [—0.97;0.97] [—0.91; 1.03] [-0.97;0.97] [—0.91; 1.03]
cLxy = CLyx [-0.97;0.97] [-1.94; —0.01] [-0.97;0.97] [—1.96; —0.03]
cLxz = CLzx [—3.25; 3.25] [—0.91; 5.58] [—3.25; 3.25] [—0.86; 5.63]
CLyz = Crzv [—3.26; 3.26] [—4.66; 1.83] [—3.27; 3.27] [—4.7;1.81]
CRXX = —CRYY [-1.71; 1.71] [—1.65; 1.79] [-1.71; 1.71] [—1.66; 1.77]
CRxY = CRYX [—1.72;1.72] [0.11; 3.53] [—1.72;1.72] [0.14; 3.56]
CRxZ = CRZX [—5.81;5.82] [—9.52; 2.1] [—5.82; 5.82] [—9.61;2.01]
CRYZ = CRZY [—5.84; 5.84] [—3.79; 7.86] [—5.84; 5.84] [—3.74;7.91]
Cxx = —Cyy [—2.19;2.19] [—1.78; 2.62] [—2.19;2.19] [—1.85; 2.55]
Cxy = Cyx [—2.19;2.19] [—4.27;0.15] [—2.19;2.19] [—4.36; 0.07]
Cxz = Czx [—7.25;7.25] [—1.35;13.27] [—7.26;7.25] [—1.15; 13.48]
Cyz = Cyy [—7.29; 7.29] [—11.16; 3.35] [-7.29;7.29]  [-11.31;3.24]
dyxx = —dyy [—0.62; 0.62] [—0.6; 0.64] [—0.62; 0.62] [—0.6; 0.64]
dyy = dyx [—0.62; 0.62] [—1.25; —0.02] [—0.62; 0.62] [—1.27; —0.03]
dxz =dzx [—2.09; 2.09] [-0.65; 3.52] [—2.09; 2.09] [-0.62; 3.55]
dyy = dyy [—2.1;2.1] [—2.93; 1.24] [—2.1;2.1] [—2.95; 1.23]



